
IMPLICIT FUNCTION

Thin X
,
Y
,
2- Beach

,
F : ll EXXY → 2-

,
il
Open

and assume

3- Iseo, yo) c-rl : fino, yd =o

Assume Iso

1) F is Continuous in
2h

2) F has g- partial derivativa in tl ad

Igf : Il → LLY ,
Z) is Continuous

3) dg F (dopo) c- Il YIZ) is invertibile (with bd inverse)

Then

(il 3- r
,
Sso and a unique continuous function

f :B! (ao) → B ! 1yd
with

f-(ad = go and Fca
, f- (D) EO fa c- BETA)

Viceversa finii ad un Bf (ad ✗ BI ( yd of Flay) -0
we have

y = fine
)

ii ) it F c- l' Hl
,
Z) ⇒ f- c- e ' in int / Bito)

and

da f- (a) = - [ dyfiyflx) )
"

dseflaiflx)

Ciiv) If F c- Che / U, Z) ,
h > i ⇒ fa che

'la



prof W- log .
(no, %) -10,0) .

Write

fini) -Egli ,
"☐ +Fh-;:?;4"⇒i

= a y + Rise, y)

c- LIZ , Y)
so

a

Flay) ⇒ <⇒ y
= ÷ a-

'

Rtaiy)

so given se sflicatly snell, ne wmt lo fnd 1 ! y
Solving y = - a-

'
Rixi)

we show Het the mep
✗→ Y

y→ § ( ☒ y) : = - A
"

Ray)

is a contractor in a suff . Smell bell
in Y ,

ha ony
se suff smell

Lemmy Jr, S >o : V-sec-BI.la)
,

tolse
,
.) is a

contractor in BY co)

pref check that free BIG)
(2) Ida, .) : BY Id → BIG)

(b) A dire, IN - dimmi = E disse -121 Maik c-BID

start with (b)

A dire , ya) - din, %) Il = HA -41 Il Playa) - Riayat/
zY Liz , Y )

Rise
, ya) - Rlsgyz ) = F Geiss) - Aye - Flslyyz) + Alla

= Ftse, Ysl - Flair) - Alya -92)



= [dgflsestssi-sl-hyd-lya-yddt-dgfladt.sn -42]
1

= | (y Fla, tyst settore) - Lytton) ) [ ya -%) dt

By assumption , dyf is continuous es e naep
Il → LN,#

→ E so , ] re
, Se so st .

tre BÉLA , V-ys.in#B&elD:HdyFla,tysi-Ls-thd-dyFiaDH--E

→ Il Naish - Ring ) Il ⇐ E Nya -yah fratre"
91,42 c- BÈ

→ Il $ laisse) - okay) Il = HA-41 E Ilya -4=1
E E Ilsa -3211

provided E = ⇒→ µ ,
V-sec-BLGYV-higc-Bg.to)

this frons (b) , non pone (a) :

Lety c-BÌO) : A dire , y) Il < Il Iolao) Il + Il Idri) - Hank
e 1110190311 + { Ilyll
E Idina /I + SE

Non unito & ( mo) = - A- '
Rino) = -A-

'

¥0) §
Use that F is continuous d- Iad → J-oarc.ro soHellfire

,a) Il = Il Fish» - IEI " E ¥+1,
provided see BIG) . =D ltdxy) le f V-sec-Br.IQ

Hye 13810) @



By Beneath fixed point Hm
, ve

debe

se c- BEH , 2 ! fixed point y = fla)
c-BIG) of

the mep direi)

i.e' yziflx salva ftx) = - a- ' Rlse
, fla) ⇐ Ftse

,
finito

since f- ( ad ⇒
,
ve have flo) ⇒ by Unity of

fixed point .
Moreau

it tris) c-Bito) ✗ BIN sol d- Flay)⇒ ed yc-BI.io) ,
- fixed point of ¢17 .) =D g-fin) (umùty of

fixed point)

Continuitjoffs) : ses , ser c- BIG)

Il fini) - fin) Il == µ oltre, ftas)) - Iolanthe)) /
= Il dire , fini ) - oltra

,
f-( sez)) Il

+ Il $ / sei
,
tra)) - disk, f- ( sez) ) /|

E dz Aftra) - f-ter) /| + folla , fini) - fluffer))/

⇒ Il fini) - f- Isea) 11 E 211A
" Il | / Rhea , flat) - Pilar, ftea))

E 211A-41 Il Flsea
, fin) ) - Flay ftrz)) |
[ Mi → slz

o es F continues
.

this prova item (i )

?⃝ www.ahihty-offd ✗ : = - [dytlaifx))
"

difatti)



we not to
prove HfHth;µ¥-N ÈÈ

Tale 11h4 «se so that seth c- BÉ Io)

f continuous =D fa : = flseth) - fla) →o as 11411-30

F diff . d- (se, fini) =D teso
,
3-
yso

: full +11111<9

Il Fcxth, gtk) - Fini! - dftmD-hhl.ME E / 11411+11111)
"

at Firth
, flxthl) Fin, fa)

y.tt ⇒ ! "

o

→ 11 da Fluid th] + dy Flay) -11111 ← E / 11h11 +11h
senso

Next
,

use Het dyflx , fla)) → dy Figo)

so sire dyf /907 ns.nverhble
, so is { Ftse , HD) puntata

dall sff Snell
.

→ Il [dyFCasflxDJ_iHgpzyyE2DfdyFl@iol.it) c-ZIIÀYI
Pby Neumann seng

So we can write

EYED - AL = h + [↳ Finta))
"

data, fiati

Y
"
= /↳ Fini)

" / ↳Finita] + Lattanti)
=p I flutti _ flx) - 4h11 < 2 HA -4 / e / 11411+111-1×+47 - FIDA)

E 211A" HE ( 11h11 + Il flxthl - FA) -1411 +11hm)



Choose c so Het 2 HA -111 E < 112

→ { Affetti - fai -4411 E adatte 1h11 ( 1- MAH)
→ linkedin.ftd-dhll-a.cc
Sine E is anbitreny , ve debe tht it ges Leo

Iii) F c- è =D da fini = F- dgflse, fai ))
-1

dxftaiflx)

→ ↳ 1- c- ea → fece

÷

⑧

LOCAL IN VERSION MAPPING

ttteonemthm-fi.tlc- ✗ → Y , f-c- et and so Het

3- mese : df (ao) c- LCXIY) is nnvuhbk with a bd mese

the" 1) f- is lonely invertibile of no ;
3- Usarlo ,

nafta)- %

st f- is a difleomaplism f- 1µg : Ha → V

2) f-
'
c- Cielo , ×) , dft (y) = fdflao) )

"

3) f- c- e
"

⇒ f-
' alla

prole F : 1×4 → Y
, Flay) = fla) -y

a) F- ( se.
,
fisco) = o

a) F c- la

a) da F ( stoffa) = Latteo) is inuehble
.

lft-DJ-r.SN and a myp g : BÌIYD → Bèlxo)



so that fly (y) , y) =. Ky ⇒ flgly)) =p
so g = f-

'
.

Otter properties follows gain by IFT .

a

semi-lineansto~m-liouwlleproblem.to) {
- u

"
+ fin) = g nato")

ulo) - alta) =o

f- : IR → R , flo) -0 , f- c- e' ( ex : flttt
")

If of is Smell in nome → epply IFT

✗ = { a c- città] ) : mio - mistero] , link, = £ natali
7--0

Y = { a c- litri ) : ] Hully = Rulle.

F : ✗ ✗ Y → Y , Fluid = - u
"
+fin) -g

i

°) F / 0,0) =o
e-È

a) regularity of F : Fca
,g) = An + fin) -y

n → An bin op → enough A c- ICKY)
Vanity - Ku " Heo E Unix

c'→ ci

n → fin) New tski op : itis ed dflnth) = f-
'
(a) oh

°) imehibihtj d- da Flop)

dnflao) [ ☐ = Ah + f' G) L c- LIXIY)



Given g c-Y
,
finta s! h c-✗ so Het

da Fino Th] = g ⇐ {
-4" + f'b) hey
hto = hideo

From Sturm- Liouville + Fredholm

+8 c-E 3- ! Le H! week gol of {
-4
"
+ t'ldh -7

UN -ale)=,
(A)

I
honoseueas problem has orly the tunnel sol

I
f-
' io ¢ { - kart , ha IN} G)

So assume la)

⇒ ttge Y , 3- ! L non sol of ch)
,
hah !

→ h c- è →
h" = filologa → hola

m h alessia sol & ha ✗

→ da Flop) is biyectie
continua ✗→ y

⇒ [tutto))
"

c- IN

ltpply 1ft → solvabihb la Hgh «1 .

Any datum
g : con-tiit-smefjf.io

( H1 ) f : RAR , fa e
'

, f' it) si KTEIR

( in particolare f-
'
io) ¢ 1- htrtta# )



Pra Assume (H1 ) , tlen kg c- C° , 7 ! nela
sol of

(D) {
- u

"
+ they

ulo) aula) =o

prode 1 . LÉ e
, suppose given g ,

fu, ✓ c- C2

sol of CD)

→
- u

"
+ fin) = - v

"
+ fly)

→ - Cr-v )
"
+ fin) - f- (x) =o

cell w = a -✓

,
,
Han

f- (a) _ f- Iv) = | f-
'

( saldi# v41) Is Inch -Hd )

ore

→

{
- w

"
+ a w ⇒

,
aise) 70

Wto) = WII) =o

Conobbe w ⇒ : mulhphg by w and f :

o = / (w '

)
'

+ | ah Wahda z | @ 12 ⇒ W = cont

Io { Wto) = Wta) -0
=D w = o

2
. Existence : Cell G : ✗→ Y ,

Glu) = -u
"
+ fin)

we know G is la



goal ; In G Open
Inna closed 1--3 1mL = Y
In G notemphg

• ) In G not empty : tniual

°) In G Open : tale g. c- In G →
3- no c-X : Huo) -go

daino) [ ti = - L
"
+ f

'

Indole

function Heaem
If dalai is invertibile → apply invase and otbtein Het

1mL Open: a-✗

Is it invertibile ? Kg c- Y , finta 1 ! uh with danda) -7

⇐ {
- h" + f-

' indole =p

Ho) = his) =o

It's stuun -Liouville problem V41 = f
' / noti) 70

,
and

ne ponete 2 ! sol Le è

→ opply invise function thm → G is locally inuuhble

around go → 3 Uno , Ugo : G : Uno → vg.is
biyect.ie → Ngo C- In G

a) In G closed : the Cgn)
,
c-In G , gulag g#

Ing

tale a

seg (a)n EH? : Glan ) = gn .

Nenad to extent

from Lun) n a coming . subseg and show Het the limit sabes

the week problem
the an c-X with Glan) = gn le] {

- un
"
+ ftnn) - gu

-
Li' + flan) una = cha) -0

multipla by nn antes ;



/ (un' 12 + | finn) .nu = fgn un
→ flint + flE-gthn-fgn.tk ) un

→ / Kit ± / (gonfio) ) un < Ha-fan
"

#mi )"
④ ah e eei-j.sc

± e fai + è / Ign - fail
'

Pònceé
'M'
e C. e / (un' 12 + je f Ign -Hall

→ G- ce ) / kit e ¥ / Ign- feat < G

↳ Il "" I
µ.
E 4 → pecompacness in C°

una → u in C°

una in un H?

/ un:& '
+ / Handy = / gne Hah!

[ f-luna) → fin) in %t
/ ùy ' / fai y fgy tratti.

→ n sabes the week problem with Lele g
al c- H1 & a

"
= fin) -g c- C° =D nell

'

ulo) urla ) -0 ( from the Co Convergence )

→ a strong sol ah Glu) =g c-1mg


